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We require that his seed be pedigreed after him - 19978 o719 W=7y 11992

OVERVIEW

Our X773 maintains that the 109 of "3 1K WA, teaches us that in order to be
TN7% WD a 372 must be o, His lineage must be known. moowin will cite a
seemingly contradictory Xn>12 and resolve the contradiction.

Mmoo anticipates a difficulty:
- PYNRIY YUN )2 POD 2 5y 199 HNT MINI PYNRI (x,15 97 mnas) NIINN 9INT XY

And concerning that which the Xn>02 states in v 219 regarding a child of
questionable paternity; whether there was a nine month pregnancy from the first
husband, or a seven month pregnancy from the 02 that the first child is fit to be a

2''713; In that case the lineage of the child is in doubt; we do not know who his father is.
Nevertheless the 8012 states that he 1s "7 to be a A"112. This contradicts the X3 here.

mooIn replies: the Xni -
= 19297 PINR TN IYIT 2IWMI NI 99 (3,7 91 0w) NOUNNRN JY PRYI P93

asks this in the 7087 »Y 8w P2 and the X3 answers that the requirement of

159X O WAT is a rabbinical requirement; it is not a 77N requirement even though the

X713 quotes a P09, however —
- 1) XY PRIVID MO 1929 1) 999 XY NYya INNONON NP

the o2 is merely an Xno>»oX and when did the 3129 decree that the 772 must be
omn, only to exclude a child born out of promiscuity, however if the child was

born into a valid marriage, they did not decree that it must be X omn WA
Therefore by the case of 012° since there was no nr; it was a regular marriage (concerning the
first born), therefore there is no requirement of 1M °OM WAT.

SUMMARY
The requirement of 1"NR omn WAT disqualifies from 71370 an offspring of a Nt
relationship; not of a marriage relationship.

" The case is of a 02> who was 02 his 72> within three months of his brother’s death. It is not clear at that point
whether or not she was pregnant with her (original) husband’s child. The 7in2°> bore a child after seven months of 012
and within nine months of her husband’s death. It is not clear whether this is the husband’s child (a nine month
pregnancy) or the s'02° child (a seven month pregnancy). In either case the child is "1X7 to be a 3" (if the brothers
are 0°1712) for Twn1 inn the child is "w>. [Any future children from the 02° however, are a3t Po0. It is possible that
this first child is a son of the deceased, and therefore she is 770X on the 02° as an 012> QPP RYW PAR WX, and any
future children are o°72n.].

* The term Xn2»0xX means a support. The 2131 occasionally used a P10 as a support for their 7773,
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THINKING IT OVER
Why does mooin cite a question and answer that is w97 in the X321

3See n"na"n.
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